Warm Up September 25, 2018
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g ing. The rangers
o rent a canoe. If you wish to rent the canoe from
oo find the total cost to rent the canoe.
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The slope represents the cost to rent the canoe per hour.
The y-intercept represents the deposit to rent the canoe.
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6. Tickets 3ta school play cosf $4)n advance off55 )t the door. w icket sales for an evening production
were @ Iffno tickets were sold in advance, Jvrite and solvéa finear equation to find the how many
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9, At Eagle Bay, it cost $10 erfhour to rent a canoe. Nick and his friends rented a canoe f

paid erte and solve a linear equation to find the cost to rent the canoe fo{8 hours
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10. A construction company charges $15 per hour for debris removal, plus a one-time fee for the use of the
trash dumpster. The total fee for 9 hours of service was $195. Write and solve a linear equation to find
the one-time fee for the trash dumpster.
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13. To surf the internet fo‘ 25 minutes }t an Internet Café, it costf $7.25.) For
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14. Water boils at 100° Celsius or 212° Fahrenheit. Water freezes at 0° Celsius or 32° Fahrenheit. If the
weather forecaster says it will be 25° Celsius today, write and solve a linear equation to find what
Fahrenheit temperature this is.
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17. You are buying $48 worth of two types of lawn seed. Ryegrass lawn seed sells for $0.70 per pound and

Fescue lawn seed sells for $1.15 per pound. If you bought 25 pounds of Fescue lawn seed, write and solve
a linear equation to find the amount of Ryegrass lawn seed purchased.

18. Jeff is keeping track of his weight over several weeks. After 2 weeks, he weighs 194 pounds. After 6
weeks, he weighs 186 pounds. Write and solve a linear equation to find Jeff's weight after 12 weeks.




